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Show your work! No calculators! Please draw a around your answers!

Please do not write on your desk!

1. (6 pts.) Evaluate the following limits.
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2. (8 x 4 =32 pts.) Fill in the blanks according to the rules specified below.
In the first blank space, write ”C” for convergent or ”D” for Divergent.
In the second blank space, provide the name of the series test you have used.
If your answer for the test name is ”Integral Test”, ” Comparison Test”, or ” Limit Com-
parison Test”, then, in the third blank space provide the integral or series you have

compared.

Example :

Series Convergent or Divergent | Name of the test | Compared with...
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Series Convergent or Divergent Name of the test Compared with...
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3. (3x4 =12 pts.) Determine if the given series is absolutely convergent, conditionally
convergent, or divergent. Give reasoning
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